MaTH 135 COURSE NOTES

Webnerk, 7 Problem 1]

The L e 9*? o ’Q“"f‘ &TW‘CW w’ﬂ?&" Wi’
Lrom U?(,.'W that 00 umits will be OCC%T)'i€6( i{Z
g ront s $ 450 / munth . A monket Survey W%uwf
that , o the aversge, o additimal wnit wll vemain

vaecont ’Fcrv .&M/‘ﬂ ﬁ 1 nupremwse in vemt. gfrm'ldwfg

‘,:[wc{ -rLL Yemnt -1-‘1,&1: TROKIAEZES -ftuf. vevonul .

Umts vent Rent
‘OYiﬂiva( }00 . 45‘-0 -3-22. 'R:," r\
dw +1 foo—1 | A4S0+l Lat % be the chuuse of
Remt +2 fud =3 450 +2 = ,wrpm-t - Them -l'fu. mvmult
' R#) = (loo-%)(450+ %)
il i« ISR SEPHD | -450< % </00 . \

————

—_—

Rix)= [00-4+ (-)(450+7) = /ooﬁ “?f-4-50 L

= %-350-2x=0 =2 A=-|Ts.

W’M R(-4s0)=0.

Q(/OO):C) )

R (-i7s)= 2fs x2S >0 = R(-175) Abs. rusx



MATH 135 COURSE NOTES

Lecture bae

Aﬂévww= Rc’/u@m B W3W?€Cl when 'f'Ai- roumt
i 45"0-175:275‘
L k-
_Ela[wﬁ‘tﬂa L‘” t- 7

"’”“’j“‘t'l-l-?t s

Rk - TF i I—Hr‘:ttexﬂ tone civadom

: 1 ‘?}" o I 1
§°(“M‘ \ 2¢-7 Lw @t €
L /&“’.;fzf-?t% “HMW._ ‘/b%m;-a-i
5 .
= = - = B |
[ G-+
Wewak [0 Pm[v(m.?
— ' ’ o
y?(lo;{f‘?)dn: g /0xo{x+5+7cl;g -.(571 1-7,9 o
(?‘ 4 1

- Sx(RL %) +Tx(8-4) = 240420268
B_M__If_; S:IA?( = B+L . Don't )%Q%y(f W‘;*L_O%fiz o




MATH 135 COURSE NOTES

Lecture Page

Webnerke [0 Poblim 1.
Tsvimace Hhe area umder the M O-F -F(U:?{Z-r;!;(

’g@m ¥=3 +o #=5 ws'ivu(a)( aﬁnfoxim-h"mg
m—tamj/(l:s omd Lofe ondpointe 1

15{:%;%@: 3 fom 3 P 5

= 22X "5 '
_,éw,( = +L3) D‘f 3 ﬁLf

Sm——

Aves - A—_e,—) $f3)(5-3) 3
= |5x2=30.

lnoi“’"e”“ ‘ %P’Omg'{"’

,Qujét« Pis) = §74205=35.
hres - A, = 35x% (TT-$)=7°.

rci ~oct + 4?,97'« ‘71"0 2.
W‘K(’:ijﬁt_ #(’7)—71—):(7:63,

PArea : A3~ 63x(9-17) .
Totol omea: A=AtAtAs= 30'*'7°+63:'63'




